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Accuracy on Testset continues to improve

Even though training set accuracy has reached 100%
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The dataset may not be representative sample

i.e. it is too easy or too hard
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Dataset

Set 1 Set 5Set 4Set 3Set 2
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0.78 0.800.730.770.72

0.62 0.770.810.700.88

Which Model would

you choose? why?
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TP

TNFN

FP
TP – True Positives

FP – False Positives

FN – False Negatives

TN – True Negatives
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Model 1 Model 2

What is the accuracy of the two models?

Which model would you want diagnosing if your tumor were

malignant or benign?
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Which Model would

you choose? why?
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